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A potato cylinder measuring 100mm was placed in a concentrated salt solution for 30
minutes. Describe its texture and appearance after 30 minutes. (3 marks)
a) State one adaptation of palisade cell to its function (Imark)
b) State the products of photolysis (2marks)
a) What is the function of carnassial teeth (Imark)
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5. The structure bsloﬁﬁs a centriole found in animal cells only (2 marks)
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6. a) People can die when they inhale gases from burning charcoal in poorly ventilated

rooms. What compound is formed in the human body that leads to such deaths (1 mark)

b) Most carbon (IV) oxide is transported from tissues to the lungs within the red blood

cells and not in the blood plasma. Give an advantage of this mode of transport. (1 mark)
7. Study the diagram below and answer the questions that follow



@* a) Identify the diagram above (Imark)

QO‘ ccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccccc
b) State one reason for your answer in (a) above (Imark)
¢) Name the parts labeled A, B and D (3marks)
A
B
D
d) State the function of the part labeled C (Imark)

8 a) State two disadvantages of fossil records as an evidence of evolution (2marks)
b) What is adaptive radiation (Imark)
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9. a) Which vitamin\is@yﬁthesized by bacteria in the human colon (2mark)
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b) Sta%.Q%’he function of the vitamin named in (a) above (1 mark)
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10. Name the structure in plants involved in the following functions (3 marks)
a) Absorption of water
b) Transport of water
c)Translocation of food
11. Study the food chain below and answer the questions that follow

Green plants ——» Insects ——» Lizards——» Eagles ——»Snakes

a)Name the trophic level occupied by the

Green plants (1mark)
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b)Explain v@vfﬁ energy from green plants to insects is more than that from lizards to snakes
&
Qfa- (2marks)
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12. a) With a reason name the structure responsible for intermittent growth in an insect
STTUCTUNE ettt ettt ettt vt b e r et e sbesbesbeeassas e s seseesbesbenteansensensesteeteessansens (2mark)
REASON ..t sttt et st a et sae s e sbe et e b eeeeeae et e e eaeeeabe et saeeennen sheeeeenneeereeeennan
......................................................................................................................................................... (1 mark)
b) What is the hormone responsible for growth in an insect (1mark)
13. a) What is reversed stomatal rhythm in xerophytes (1mark)

b) How can this phenomenon in (a) above be a limitation to the plant in terms of gaseous

exchange (1mark)

14. a) A dog weighing 15.2kg requires 216kJ while a mouse weighing 50g requires 2736KJ per day.
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b)Whatésﬁ:he end product of respiration in animals when there is insufficient oxygen supply
R
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15. The figure below is a structural diagram of a portion from a nucleic acid strand
-==-§ - P----- S ----- P--—---- S ----- P----- S
o G U o
a) Giving a reason, name the nucleic acid to which the portion belongs (2 marks)
Name
Reason
b) Write down the sequence of bases of a complimentary strand to that shown above (1 mark)
16. The figure below shows a stem of a plant growing round a tree trunk



(1 mark)
(2 marks)

What is the name of the response which causes the twisted growth

Explain how the twisting process is accomplished

Below is a diagram of an organism
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i) State the\c!ﬁ%fwhich the organism belongs to (1 mark)
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ii) Q’?" State two observable characteristics used to classify the organism in the class you have
X
Qf&@ mentioned in (i) above (2 marks)
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18. State two examples of mutagens (2 marks)
19. Study the diagram below and answer the questions that follow
Furthergxcess
X
Excess » corrective mechanism A
Negative feedback
NSrm Norm
Negative feedback
Deficiency » corrective mechanism B
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a) Name the principle Iq\b‘e(féd X (2mark)

b) If the above disgﬁs:\ represented blood sugar regulation

N\
i) State thgé)rrective mechanisms carried out at A (2marks)

Name the main sites of gaseous exchange in (3 marks)
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Below is a diagram illustrated for an animal tissue
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a) What is the identity of the illustrated diagram (1mark)
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c) What makes it very efficie fr its function of impulse transmission (1 mark)
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. a) Name the ghPee strengthening tissues in plants marks

22 )N th&h‘? trength t lant (3 ks)
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QJ@\L_ b) State two ways in which the xylem is adapted to its function (2marks)
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23. A leguminous plant uprooted showed some feature on its roots as shown below
i) State the identity of Z (1 mark)
i) Name the bacteriain Z (1 mark)
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iii) Name the relationshingween the named bacteria and the root at Z (1 mark)
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iv) What mine§lelement is availed by the bacteria in Z to the plant (1 mark)
>
$H
Q}%
V) N@% one organism that reduces the element named in (iv) above reducing its availability to
X
Q@?ants (1mark)
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24, Study the reproductive structure below
a) Name the parts labeled P and Q (2marks)
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b) State the funcgm@ the part labeled R (1mark)
N\
N
Q}%
.......... (é.Q
N Q
Qg?How do the following factors hinder self pollination in plants
%
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i) Self sterility (1mark)
25. State two functions of the enzyme thrombokinase in blood clotting process (2marks)
26. Below is a diagram of an organism
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(2mark)
(1mark)
c) Other than the locomotive structure shown by the above organism name two other
locomotive structures used by other members of the above named kingdom (2marks)
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